


1. TCS51  氣動式切帶裝置 Pneumatic Type Tape Cutting Device
序號 物料編號 名      稱 單位用量

Ref.No. Parts No. Description Amt. Req.
1 TKA0114 上刀座 Upper Knife Support  ------------------------------------------------------------------------------------------------------------------------------------1

2 PNC0169 氣缸座 Cylinder Holder  ------------------------------------------------------------------------------------------------------------------------------------1

3 TKA0138 減震橡膠 Rubber Cushion  -----------------------------------------------------------------------------------------------1

4 PNC0164 氣缸 Cylinder ---------------------------------------------------------------------------------- 1

5 TKA0113 氣缸支架 Cylinder Holder  ------------------------------------------------------------------------------------------------------------------------------------1

6 MDQ0008 螺絲 Screw ( M6-1*10)  -------------------------------------------------------------------------------------------1

7 MHS0016 螺絲 Screw ( M6-1*12)  -------------------------------------------------------------------------------------------1

8 MHS0035 螺絲 Screw ( M5-0.8*14)  -------------------------------------------------------------------------------------------2

9 WAH0003 墊圈 Washer  ----------------------------------------------------------------------------------------------------------------------2

10 MES0015 螺絲 Screw ( M5-0.8*14)  -------------------------------------------------------------------------------------------1

11 TKA0045 調節螺絲 Adjusting Screw  ----------------------------------------------------------------------------------------------------------------------1

12 BLD0062 上刀 Upper Knife  -------------------------------------------------------------------------------------------1

13 MHS0007 螺絲 Screw ( M4-0.7*12)  -------------------------------------------------------------------------------------------5

14 TKA0111 調整塊 Adjusting Block  ----------------------------------------------------------------------------------------------------------------------1

15 TKA0112 調整塊 Adjusting Block  ----------------------------------------------------------------------------------------------------------------------1

16 MES0018 螺絲 Screw ( M5-0.8*25)  -------------------------------------------------------------------------------------------1

17 MHS0038 螺絲 Screw ( M4-0.7*16)  -------------------------------------------------------------------------------------------2

18 MHS0034 螺絲 Screw ( M4-0.7*26)  -------------------------------------------------------------------------------------------2

19 MBA0004 螺帽  Nut ( M4-0.7*3 )  ----------------------------------------------------------------------------------------------2

20 PNC0087 ψ6 空氣管接頭 Air Connector  ------------------------------------------------------------------------------------------------------2

21 BLD0071 下刀  Lower Knife  ----------------------------------------------------------------------------------------------1

22 WAH0002 墊圈 Washer  ----------------------------------------------------------------------------------------------------------------------2

23 TKA0128 針鈑 Needle Plate  ------------------------------------------------------------------------------- 1

註:  VXD / VLD 1500  機型用

-2-





2. TCS51  電眼裝置  Electronic Edge  Device
序號 物料編號 名      稱 單位用量

Ref.No. Parts No. Description Amt. Req.
1 SCU0021 電眼  Photosensor ------------------------------------------------------------------------------------------------------------------1

2 TKA0070 電眼座  Photosensor Seat ---------------------------------------------------------------------------------------------------------1

3 MDX0014 螺絲 Screw ( M3-0.5*8)  -------------------------------------------------------------------------------------------4

4 TKA0071 護指擋片 Finger Safety Plate ----------------------------------------------------------------------------------------------------------------------1

5 TKA0069 電眼座支架  Photosensor Seat Bracket  ---------------------------------------------------------------------------------------------------------1

6 MHS0008 螺絲 Screw ( M4-0.7*14)  -------------------------------------------------------------------------------------------1

7 MHS0011 螺絲 Screw ( M5-0.8*10)  -------------------------------------------------------------------------------------------1

8 TKA0130 電眼支架  Photosensor  Holder ---------------------------------------------------------------------------------------------------------1

9 MHS0005 螺絲 Screw ( M4-0.7*8)  -------------------------------------------------------------------------------------------2

10 WAH0002 墊圈 Washer  ----------------------------------------------------------------------------------------------------------------------2

-4-





3. TCS51  滾條架   Tape  Stand
序號 物料編號 名      稱 單位用量

Ref.No. Parts No. Description Amt. Req.
1 TKA0127 手動開關支架  Manual Switch Bracket  ---------------------------------------------------------------------------------------------------------1
2 PNC0167 手動開關  Manual Switch  ---------------------------------------------------------------------------------------------------------1

3 WAH0002 墊圈 Washer  ----------------------------------------------------------------------------------------------------------------------5
4 MDX0003 螺絲 Screw ( M4-0.7*6)  -------------------------------------------------------------------------------------------2

5 TKA0068 滾條盤支架座  Tape Stand Seat   ---------------------------------------------------------------------------------------------------------1
6 MHS0007 螺絲 Screw ( M4-0.7*12)  -------------------------------------------------------------------------------------------5

7 TKA0072 滾條盤支架  Plastic Plate  Shaft   ---------------------------------------------------------------------------------------------------------1

8 TKA0073 滾條盤   Plastic Plate  ---------------------------------------------------------------------------------------------------------2

9 TKA0074 限動環 Stop Collar  ------------------------------------------------------------------------- 2

10 MES0002 螺絲 Screw ( M3-0.5*4)  -------------------------------------------------------------------------------------------2

11 MHS0022 螺絲 Screw ( M6-1*15)  -------------------------------------------------------------------------------------------2
12 WAH0004 墊圈 Washer  ----------------------------------------------------------------------------------------------------------------------2

13 MHS0011 螺絲 Screw ( M5-0.8*10)  -------------------------------------------------------------------------------------------2
14 WAH0003 墊圈 Washer  ----------------------------------------------------------------------------------------------------------------------2

15 SCU0049 線夾 (中)  Cord Clamp  ( Middle )-------------------------------------------------------------------------------------------2
16 SCU0046 線夾 (小)  Cord Clamp  ( Small )-------------------------------------------------------------------------------------------2

17 MHJ0006 螺樁  Stud  ( M4-0.7*13)  ----------------------------------------------------------------------------------------------------------------2

-6-


